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PaPer IX- INCOME TAX AND AUDITING

Pnnr A- Income Tax

Paxr B- Auditing

Time: 3 hours Maximum Marks: 75

(WriteyourRollNa.onthetopimmediatelyonreceiptofthisquestionpaper)

NorB:- Answers may be written either in English or in

Hindi; but the s'ame medium should be used

throughout the PaPer'

iiquft:- {s rfiqt cFr rrT{ 3id'9? q fd ffi {6
,rrvr C deq' Af+q s'8f rdd e6t qTzqq q6 d'

61r. qTfdq t

[Jse separate answer-sheets for Parts A and B'

wtr A .#r g & ft?'-A wrr etem sat

gfta-+r 6r rqhr olffi t

Pan',r'A (Income Tax)

r{Fr gT ew 6,

Attemltt all the questions"

s{'f {Fi }*n q?ffi r

1. Indicate whether thc iollowing statements are True or

False: P. T. O.
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FrqfiTfu" qrcFq ser d qrer+rs, {f,r{q

(u) A taxpayer is an assessee but an assessee nced not
be a taxpayer.

fi-rqdr q* fruffcfr t qr< T6 srcffqq rfr f6
fqqfR-fr sfr q-{ o-rqmr d r

(b) Maximum exemption available u/'s 80U is Rs.
100,000 to a person with severe disabilitv.

Sec. 80U * si-f,rfd :ffi1 erdr+m et-A qftm s]
q-q 3T[t166q Ej] 100.000 ro t r

(c) Interest on capital borrowed for construction/
purchase of the house may be allowed on due
basis.

qc5r;r EFr f:rqfuiZstrq + ffi s€rR rR qrq tq
3{TtTR q{ T{rer d gqor t r

(d) Loss from house property cannot be adjusted with
income from Salary.

r6;a sffi t 6rF{ +1 *dH t enq t €qrq}ftf,-d

+fr'+l sqt r

(e) Income of previous year is always taxable in the
immediately following assessment year.

{.ffi d si e{rq 6tyn ilrS s{'rft f{qf{ur q{ t
s{+rq t I s

2. The following particulars relate to the income of Sri
M. Mehta for the previous year 2015-1,6:

He is employed in a cotton textile mill at Bangalore on
a monthly salary of Rs. 25,000 p.m. He is also entitled
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to commission @ lVo ofthe sales achieved by him' The

sales achieved by him during the previous year is Rs'

40,00,000. He received the following allowances and

perquisites during the previous year:

(a) Dearness allowance @ Rs' 6,000 p'm' (forming

part of the retirement salarY)'

(b) Bonus @ 2 months basic salary

(c) Entertainment allowance @ Rs' 2'000 p'm'

(d) House rent allowance @ Rs' 5'000 p'm'

(e) The employer paid Rs' 11,000 towards the income

tax liabilitY of Sri M' Mehta'

(0 The employer provided him LTC of Rs' 35'000 for

going to Shimla with family' Mr' Mehta spent Rs'

45,000 on the triP'

(g) He is also provided with gas, electricity and water

facility and employer spent Rs' 15'000 on these

facilities-

(h) He and his employer both contribute 75Vo of his

salary to his recognised provident fund and

interestcreditedtothisfund@gToamountedto
Rs. 30,000 during the previous year'

(i) He spent Rs. 6,000 p'm' as rent of the house in

Bangalore-

(j) He is given children education allowance of Rs' 70

p.m. pet,child for his four children'

(k) He contributes Rs' 10,000 as premium on medical

insurance policy taken for his father'

(l) He also repaid Rs' 50,000 of principal compo-

nent of housing loan' 
p. T. O.
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Compute his taxable income and tax liability for the

assessment Year 2016-17 '

eri qqo trm 61 3{rq T {ffi qd 2o1s'16 t
€*F " 

F-drq F{qfdfua t'
qe d'r*t 61 \r{ d-sq )ffitr{-d Frm q 25'000 5o

qrfis-+ *ffi qr 
"t{* 

t ' "o* 
eRI ffi q.t} 'n sR

L% ffi$q .fi rflt t* t r ss.* sot ^F1fr. 
q 1

d{H ffi 4o,oo,ooo t' E{ r s€t} {ffi qd + {RH

FTqftFqd rri qq eqdrq eIK t4'(:

(u) T6'ni r{r{I 600o {o xfr mt tffiqfa *r{ *

re**Fcfr)
dt{q 2 qr6 6r qe *a-+

Fi1qq rldr 2000 oo sft 1116

q-6.' f{.rqr ff{T 5ooo ro qfr rn6

flJ wo t-f,dr + 3{r*rt <rFr€ * ftq Frqtffir eru

T{rT 11000 Fo

s0 lrc * rsooo do f{frsT i scR-qR frrq-dl

qrt t fu Rq1 fto ffi i {s qHT qi 4sooo

rosdffiqt
(g) st te fffi q qrfi qT glqqrq eqffq i r

ft*ffiT i {q* ftq tsooo to sd f*q t

(h) aqt q ss* Frdffir f i ss* +il{ 6I r5vo

qrqntnqT qFdq gapu * f€q *rrEH Rqr 3rt

Tffi q{ fr {€ f{fq fr qm ffil rrql s7' sl Et t
qre 61 qRt to 3o,ooo {€1 |

(i) sqi i'rdi d q6-a + ffi{q t fdq 6sss 5o elcT

qra sd f+q t

(b)

(c)

(d)

(e)

(0
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(j) sn s€'* qdi {a} * ffl 7o 5o cfr {ar qrfi

fqrenr q.Tr Fqr erar t r

(k) {€ arq} Fdr i; ftrq mi 'T{ t|rq-d frqr qTffi fr
qtFrqq * dh q{ 1o,ooo do 6T *rrqn tm t r

(l) 3q| q-qrq xor * Wtrq * so,ooo €q} tti gs-dr

F*'q r

f{qtrur q{ zoto-tz * fdq sr*t q.<-qtrq enq qa{ q-q-

t=rm *1 rrur+r qiFqq t 15

6lp (WreIT)

(a) Discuss tax treatment of Provident Fund in detail'

qFdET frfir *r s{rrttr{ fr 3rr{R 4'r frlan t quiq

+iFq1 8

(b) Mr. A, resident in India, aged 68 years' earned

agriculture income of Rs- 3,t10,000 during the

previous year 2015-16. Compute his tax liatrility

assuming that he has non-agriculture income of

Rs.5.90,000.

s{rrd fr Frdrq1 68 dq si A } Tfe-fi qd

2A15-16 fr 3,00,000 q'o ehl A,,R ern+ erffia q1 
r

q6 qHt Eq fs 3s+i 'h A.,fq eira 5'90,000 do t,
sssl +i tqm q1 rrur* qifqq | 7

(a) From the following information, compute income

from house property, construction of which was

completed ont.4-2013:

Municipal value of the house

Municipal taxes paid

Rs. 1,60,000

Rs. 16,000

P. T. O.



The house is divided into two identical units. One

of the units is self occupied and the other unit is

let out on a monthly rent of Rs. 7,500.

A loan of Rs. 3,00,000 was taken from LIC on

t.4.2011, @ IZVa p.a. for the construction of' this

house. Rs. 1,00,000 was refunded on 1.10.2015"

qi-A qi 'd qq-{r t t.+.zote q] ffiq qt Tfqrflq

* qsm q-rya sffi t errq q] riusv *lfeq:

rtc6Ft EFI +n qrfu*r qe
qrn qrRmr .E-t qrII F+qr

qtqr n1frqq

$ rs{rqT 1,ooo

q-*.n d €qTq qFil fr ii-Jr €3n t I qs i?RT wd
t eqd'r + rf,q t dt Ee-tr l6+ffi l,soo do

qlf-ss fflq vt RqT gw t r

{sH a; Mq t fdq r.4.2o11 +} uc d nn
xpd d rR 300,000 do 6r'xur ftqr t r t.tO.ZOtS

+1 r qro so g6rq | 10

(b) List out five incomes which are always taxable

under the head "Income from house property".

"q*-1q {qfr fr 31q" Yfrfs fr s errdl q.r qfqfi
6lfqq*6irn*.i-*'qdr s

or (qgreil)

Insurance premium

Ground rent

Rs. 2,000

Rs. 1,000

do

1,60,000

16,000

2,000
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(a) Mr. Ramesh' a citizen of India went to Canada for

business purpose on 1'1'2011' He was never out of

India in the past' During the previous years

20'1j -12, 2012- i3, 2013 -1 4, 2014 - 15 he has been in

India for 100 days every year' He relurned to

India to settle here on l'1'2016' Determine his

residentialstatusfortheassessmentyeat20T6-|7.
qrdi-q rrrrRq tlvr t.t.zo11 d qrm * et{q t
6-{r$ qq | {st q-{e a 

'1Trfd 
t qrfl 6S qd trq

t | {ffi qff 2011-12, 2012-13' tot3-14' 3{f{

zau"-ts q ; qds e{ too f{q * feq qR" fr G

t r 1.1.2016 * a ffqs qrud 3nu5{ 4's 4q I

fctTi{ur qd zote-u * fdq s{si srer€i-q furfd

qr fqef{ut efifqq i 8

(b) Explain the clubbing provision whereby an

inJividual is assessable in respect 6f the income

earned bY the sPouse'

qiEl * srqqrq di {TEr{r{q ffi er;atfa q*

--f* 3{qi dffisrq1 anr eTffid sTrq t 6nq s't-

d'qAiiliiltr

A-. (u) Mr. Shivpal provicles the following data for the

sale of his residential house for the previous year

2A$-1'6: Rs.

House Purchased in 1984-85 6'50'000

Sold in November 2016 90'00'000

Construction of the I floor in 1992-93 3'50'000

Construction of the II floor in 2005-06 5'00'000

P. T. O.
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Purchased another house in Sep. 2016 6,00,000

Deposited in capital gain account
scheme in January 2077 2,00,000

Compute the amount of taxable capital gain of
Mr" Shivpal for the assessment year 201,6-17.

The CII for the financial years are: 1984-85: 125;

1992-93: 223; 2005-06: 497 and 2015-16: 1 081.

ei Rnqrm sTqi sTrdr€tq qcFFT t fdffi t

do

6,50,000

go,oo,ooo

3,50,000

5,00,000

6,00,000

2,00,000

m} q'i-

1992-93:

10

of

sqF*rd qffi qS t frq qtsB r*qa o-tt t:

1984-8s d q6pa sa-(t

q?rkR zoto *] iqr
rgg2-93 C sqq iRT q{ Fqtur

2005-06 t katq dcr rR frrrfTr

fi$drq{, 2016 C \tr el-q r+rq sft-Er

wrdfr 2or7 I {sfr orrr qrcr *e-{r
q qTIT

{iqf{uT q{ zoto-tz * fuq fr" Rr-{qrs

*tq tql €Iq ql ttftr q,1 rpr+r 61fu 1

CII |qfrq qd t fdq t' : 1e84-85: r24;

223;2A05-06;497 elrr ZOtS-16 : 1081"

(b) Briefly explain deduction u/s 808 in respect

interest on loan taken for hieher education.

sq Rre{T * ffi fqq qq rtrT T{ qrq t qaff}Td

eTKr 80E q 6-ffi qr sieTR q q{al-{q | 5
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Or (srerEr)

Write short notes on the following:

FrqFdf€f, q{ {ifqTq M qlFqq:

(a) Setoff and carry forward of capital losses

tvl-Erfr qr qqrfrq{ q sTrt d qm

(b) Explain deduction u/s 80U in respect of income of

a person with disabilitY

s{*rq qFfi o1 enq t sqq i, qru 8ou C {
*-dd d qqgrgq r

(c) Define the term capital asset as per Section 2(14)

of the Income Tax Act, 1961.

3{rfi5-{ sTRrF{qq, :961 61 tIRI 2(14) q {qt
{Tqfd s} qRqrfrf, *ifqq t 5+5+5

Panr B (Auditing)

r{rrT E f el#et"?)

AttemPt all questions'

sst?' rfld # rar q?&q t

"Accounting is a necessity to business but auditing is a

luxury." Comment on the staternent.

"q1q1q C teie-q qs slrrrerts-dT t qr-g eitqq q€

ffiar t r" splq qr frqufr slfsq | 5

What is meant by internal check system'? Suggest a

suitable system of internal check for wage payments'
P. T. O.

5.

6.
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3Tr;rft6 w1qTq cutTafr t enq +qT qrflt e ? rwqil

TTfrr-I t s{rdF.s q0qq + fitq qs 3qffi qvn-ifr

s{flr{q r 10

or (sTer€{r)

What do you mean by continuous audit? Distinguish

between continuous audit and annual audit.

F{:f,r tqr qfrryq t swq €I s{fle { I p454q 6s1
q0wr air qridq -dsr qfiqTr fr ertt *ifqq | 10

7. Describe the provisions of Companies Act, 2013 with

regard to rights and duties of company auditor-

q-lqq1 ei+qffi t stri q srfffi t {rqf*rd q.qqi

erfrrfr-€rq, 2013 + srqqF{} qr euf{ qifqq i 10

Or(qgr{r)
Write short notes on any two rtf. the following:

(a) Disqualifications of auditor

(b) Qualified audit report

(c) Audit working papers.

f:rqft{bn C t mA dI qr f=iqufr q1f'w;

(u) sitq{s d 's*lq-dd

(b) iirq ili*wor R*J

(c) risr .rfrqr errd-qt'| 5+5


